KILOMETRES

1km = 1000m

1. 2000m = km
2. 4km = m
3. 500m = km
4. 1500m = km
5. 4300m = km
6. 3.7km = m

7. Match up the statements below.

0.3km

1500m

300m

4km 1.5km

2300m

2.3km




STRETCH IT

8. Anna and James are training for a school athletics competition.

Anna is confused. | have run
1070m which is further than
Anna has ran.

| have run 1.7km which is

further than James has ran.

Who is correct? Explain how you know.

SOLVE IT

Complete each line below so that the three circles in each question total 3km.

9.

10.

11.Now make your own circle puzzle for me or a partner to solve.



2000m = 2km
4km = 4000m
500m = 0.5km
1500m = 1.5km
4300m = 4.3km
3.7km =3700m
1500m = 1.5km
300m = 0.3km
4km = 4000m
2300m = 2.3km
8. Anna is correct with explanation.
9. 1200m
10.1.1km
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